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1. Introduction
In this contribution, we address the remaining issue on the CA with unaligned frame boundary and slot alignment, and also provide the corresponding text proposal. 
[bookmark: _GoBack]
2. Discussion
In RAN1#99, the following agreement was made on the determination of slot offset applied for the case of unaligned CA consisting of the cells with same or different SCSs.

	Agreements:
For the lowest SCS combinations of other than 60kHz/60kHz and 120kHz/120kHz
· For slot offset N, for CA case, the beginning of slot #0 of the CC with lower SCS (or PCell/PScell for equal SCS) coincides with the beginning of slot #(qN mod M) of the CC with higher SCS (or SCell for equal SCS) 
· Where 
· q = -1, if lowest SCS of PCell/PScell is smaller than or equal to lowest SCS of SCell
· q = 1, otherwise
· M is the number of slots per frame in the CC with higher SCS 
· Note: Other simple description is not precluded as long as it is aligned with above principle.
· Here the lowest is same as the definition in Alt 1.
[bookmark: _Hlk25309843]For the lowest SCS combinations of 60kHz/60kHz and 120kHz/120kHz
· For slot offset N, the beginning of slot #0 of the CC with lower subcarrier#0 of CRB#0 coincides with the beginning of slot #(qN mod M) of the CC with higher subcarrier#0 of CRB#0 
· Where 
· q = -1, if subcarrier#0 of CRB#0 of PCell/PScell is lower than subcarrier#0 of CRB#0 of SCell
· q = 1, otherwise
· M is the number of slots per frame in the CC 
· Here the lowest is same as the definition in Alt 1.



According to the above agreement, firstly, for the combinations with different SCSs (e.g. 60kHz/120kHz or 30kHz/60kHz or 30kHz/120kHz) where different SCSs are used between the unaligned CA cells, the reference CC for slot #0 is determined as the CC with lower SCS, and in this case, the reference CC is common for the CA UEs. Secondly, for the combinations with same SCS (e.g. 15kHz/15kHz or 30kHz/30kHz) other than 60kHz/60kHz or 120kHz/120kHz where a same SCS is used between the unaligned CA cells, there would be no issue even if the reference CC for slot #0 is determined as UE-specific Pcell since the duration of one slot is not smaller than 0.5 msec for the SCS of 15kHz or 30kHz. Lastly, for the same SCS combinations of 60kHz/60kHz and 120kHz/120kHz, the reference CC for timing of slot #0 is determined as the CC in lower frequency since the SCS is the same between the unaligned CA cells, and also in this case, the reference CC is common for the CA UEs.

However, the above agreement is not correctly captured in the current version of TS 38.211 specification. Hence, we provide the corresponding text proposal as the following. 

Proposal: Adopt the following text proposal in TS 38.211.
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[bookmark: _Hlk26278463]Transmissions in multiple cells can be aggregated. Unless otherwise noted, the description in this specification applies to each of the serving cells. 
For carrier aggregation of cells with non-aligned frames, the slot offset  between a PCell/PScell A and an SCell B is determined by the difference betweensignaled by the higher-layer parameter CA-slot-offset for the cellSCell A and higher-layer parameter CA-slot-offset for cell B. The granularity of the slot offset is determined by the quantity  which is defined as the maximum of the lowest subcarrier spacing configuration among the subcarrier spacings given by the higher-layer parameters SCS-SpecificCarrierList configured for PCell/PScell and the SCell, respectivelyeach cell in the cell pair. The slot offset  fulfills
-	when the lowest subcarrier spacing configuration among the subcarrier spacings configured for the cell is  for both cells or  for both cells, the start of slot 0 for the cell with point A with the lowerst frequency between the PCell/PScell and the SCell coincides with the start of slot  for the other cell where   if point A of PCell/PScell is configured as lower frequency than the SCellthe lowest subcarreier spacing configuration given by SCS-SpecificCarrierList of the PCell/PSCell is smaller than the lowest subcarrier spacing given by SCS-SpecificCarrierList for the SCell, otherwise ;
-	otherwise, the start of slot 0 for the cell with the lower subcarrier spacing among two cells, or the PCell or PSCell if both cells have the same subcarrier spacing, coincides with the start of slot  for the other cell where   if the lowest subcarreier spacing configuration given by SCS-SpecificCarrierList of the PCell/PSCell is smaller than the lowest subcarrier spacing given by SCS-SpecificCarrierList for the SCell, otherwise .
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